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Sem-V-Eco-CC-12(R&B)

2023-24

Time - 3 hours
Full Marks - 80

Answer all groups as per instructions.
Figures in the right hand margin indicate marks.
Candidates are required to answer
in their own words as far as practicable.

GROUP - A

Fillin the blanks. (all) [1x12
JgI? Jol @ (29Q)

(a)

(b)

(d)

Per capita income is calculated by dividing national income
by ‘

I g QR UG FER Fadel 2o KEL|
Indiais a economy.
RAUNER 1@ 213 |

The full name of PQLI is

PQLIS gal QI |

In Marxian theory, creates surplus value.

QoI 26a8 gmy 98

AieQier daie aQaie
621ReIN |

P.T.O.



(e) According to Schumpter

()

(k)

(2]

is prime cause of eco-
nomic development.

QCETRS 6] QI
cRIRAN |

Qe 2d6R6e Gaig

Poverty line is determined in terms of

QIRQY cael Qe FFES cRINeIN |

curve measures inequality.
60QIQIRl 21 AT gl IR |
The shape of Kuznet's curve is
@R €l iR |
In India, sector is the major source of employment.

URDER 69 AQ0IQ) AP FEARR 6NN |

Capital formation mainly depends upon

& 09 Feues Ad6R FL6a A6Q
Trade Unions are institutions.
§7ie Agee AIRG0s UQER |

In India, Act is helpful in reducing curruption.

AURER AR 9916 29 RHQIER TR 266 |
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(3]

GROUP - B

2. Answer any eight of the following questions within two fo three

sentences each.

[2 % 8

62668 r' 990 200 F6eIRQ 2R I 567IF AIRUER FIC 24

(@)

(b)

(c)

(d)

(e)

(f)

(9)

What is meant by economic growth ?

21ge 2GR 22 K4 ?

What is dualistic economy ?

690 210 @8 266 ?

Whatis HPI ?

HPI @€l &e%' ?

What is capital formation ?

JEG0R 26 26T ?

What is stationary state in classical theory ?
S0 J8IBEA AIRIER Ja Qg Q41 ?
Explain the fundamental equation of Solow model.
6QlERl FEPRR 6FIRR AMRRE QRS @R
What is surplus value ?

UYETT I @61 266" ?

P.T.O.




[4]

(h) What is minimum support price ?
AS5e) ARIOR YR K€ A6S ?
(i) What is economic inequality ?

256000 2AC0 Q6 26T ?

(j)) What is import substitution ?
2RI OISR @€ AT ? j
(k) What is social institution ? ,
AR QIR Q YR @6l ?
() Define currpution. .
QAIBQ T/ g Q9| &
GROUP - C |

3. Answer any eight of the following questions within 75 words each.
696M1ad G g9a Qaa geeyRq 988 a0 FRIER 9Ie @Al \
[3x8
(a) What is vicious circle of poverty ?

QA ID 0Q @€ AT ?

(b) Explain Human Development Index (HDI).
AR SR8 JORIT R4 26T ?
(c) Explain the concept of Poverty Gap Ratio.
QA 2SR ARG ANIREI FTAER LETTCR SRS |
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(d)

(e)

Q)

(9)

(h)

0]

0

(k)

(0

[5]

What is falling rate of profit in Marxian theory ?

e ANIBER ARG QAR 2ie F9T 0g ?
Differentiate between Absolute Poverty and Relative Poverty.
ge IRy 6 2sade ARy FrIca aday a4l |

Explain human capital formation.

AR IR GI09 FVAER I°6TACR 6ad |

What is Gini coefficient ?

O QOR @€ 26e' ?

Point out the causes of curruption.

QP15 FIRYFR Qs Fal

Write a note on the dependence of agriculture on industry.
98a e QUca FNRNIRGI FFACH A°ETACH 6R |

Point out the differences between economic growth and eco-
nomic development.

UICTOR LRQR 6 ATCHER DRI FRIGH AN YENFR BER!
@R |

Point out the assumptions of Solow model.
6QCAI FEERR ARYES A6RE @A
State three roles of institutions in economic development.

dde G868 F0RgEea G6aId QFivI A6 a4

PTQ



(6]

GROUP - D

4. Answer any four questions within 500 words each. [7 x4
6Q6@18d ¥E 99 Q8 YEGIR] 800 &R FrIER &2 |

(a) Explain the main features of an underdeveloped economy.
URQS UGB 6FFWYER dal oq |

(b) Explain the concept of vicious circle of poverty.
QAR VSR 6] RSN 4|

(c) Explain the Schumpeter’s theory of economic development.
IEHCER AERER GRld dRis odel e |

(d) Explain the Kuznet's hypothesis on economic inequality.

2ICRER 2AN0I Q96a PRERCT ARRER! FIAER SRS
@ |

(e) Whatis institution ? Explain different types of institutions.

AR @6 YT ? QRQ IRIR AR Fuea 9dal eq|

(f) Whatis curruption ? Explain different steps taken by govern-
ment against curruption.

QP16 @€ ? QP16 BQesa deqin ged RGaQl eeNagee
ol QQ |

(g) Explain the role of Industry for the development of an economy.

6615\ 6040 IRIsien Fee 9fiel adal ea|
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